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Hour 3 on Friday September 5: More NCGE. /e /
http:ndrorbn.netfzs-e,@ﬁ_____,—__-——f—’“—‘ 15 4 '{b“j/’) class |
The syllabus is still not pubiic! °

Say hello to Jacob, wish luck to Matt! _— T -V =T % -

Permutation product is "usual" composition!
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Proof. ‘By backwards induction. Clearly M, M, C
M,,. Now assume that Ms;Ms; C M5 and show that
M4M4 C M4. Start with O'g}jM4 C A/[43

2
O'g’j(0'4,j4ﬂ/.[5) é (08,j04,j4)M5 C M4A/I5

3 4
= UjO‘4jj(AJ5M5) C Uj0'4,jM5 C M4
(1: associativity, 2: thank the twist, 3: associativity
and tracing i4, 4: induction). Now the general case
(04450540 )(04,5,05.55 )

falls like a chain of dominos.
Theorem. G = M; and we have achieved our goals.
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